HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(Z 23 ZBE LT XRE2021FRBAERBEMNE, O5KRELIR, EEELE, H10H208 £ 4 K 20225F 5%
R AT AR REMBAETR] ., RLWKFE L2022 FE R XTI T ARKR2022FBAKATRE AR ETR A, HRiE

BARAT AR M ob )G Sili )

e TS R SR ST Focr e g 5pat |V IR
SFEREAL SRS 2= B 100101 AR 5 AL UG AR B = 4= Hil 3
AREEAL R 2B 100101 AR 5 AL UG 2 HLNG - H = 4= H il 3
AR AL FERH R 22 B 100102 g G = 4 Hifil 20
SR SR 2B 100103 I JE A RV FEE = 4= Hil 2
AR FERHER 2B 100104 J 3 2 e AR g 2 Jis HAE 2 O = 4= Hifil 10
SFEREAL SRS 2= B 100104 s B2 5 05 FLAE B 22 B B E 4= Hil 9
SR AL SR 22 B 100104 s B2 5 95 HLAE B 2 T2 5 A S A AR 4= Hil 3
FARFEAL NI B AR 100401 AT 5 DA G AT 2= U = 4= Hil 5
FEAREAL ONFE TP A R 100401 WATIR 5 B gt PSR = HEE 4= H il 4
FAREEAL N A R 100402 57 8l DA S PR EE T A2 IRdE AR S E 4 Hifil 17
FAREEAL NI A R 100402 57 8l DA 5 PR EE T A2 57 5f) AR 22 HE = 4 Hifil 14
FARFAL NI B 100403 IR S A PA IS DA = 4= Hil 8
FARFAL NI B 100404 b PA S A4 2% )b TAE S A 4h g 2= FU = 4= Hil 3
SR AL NFE DA 100405 AR PR = 4= Hil 15
AR ONFE B R 100471 PSS HSEFHTE 4= Hifil 4
| A4 DA NP AE R 105300 AETAE AT I T = 4 [ ] 75
kA NGB AE 105300 AFETPA AR E 4= Hiil 55
| A DA NI AR 105300 AFETAE 5 DA H = 4 [ ] 33
| A= 4 DA NP AE R 105300 AL TAE 55 8)) AR St = 4 [ ] 35
iA=L A NFE DA 105300 AFETPA RS DA E 4= Hil 27
iA=L A NFE DA 105300 ANFETPA )LD A 5iA4) R S B = 4= Hl 11
Ll 2B N A R 105300 N TA DA EHIE 4= H il 55
iA=L A NI B AR 105300 AFETPA SR E 4= Hiil 15
SR [N & 010105 i S ES U 4= Hil 6
AR 522 N SCBR 040203 N o0 P O P E 4= Hifil 3
SFEAREAL 2525 100701 s 2 F I E 4= Hl 3
FARFAL I 100701 s FIRA WM 0 = 4= Hil 1
EAREEAL 2B 100702 232 2505 T = 4= Hifil 2
2R 22y 2524 100702 25 % I HE 4= Hil 1

%1 T, Jt o8




HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(Z 23 ZBE LT XRE2021FRBAERBEMNE, O5KRELIR, EEELE, H10H208 £ 4 K 20225F 5%
R AT AR REMBAETR] ., RLWKFE L2022 FE R XTI T ARKR2022FBAKATRE AR ETR A, HRiE

BARAT AR M ob )G Sili )

e TS R SR ST Focr e g 5pat |V IR
AR 2525 100704 M HrE A I F A E 4= Hil 3
FARFAL 2525 100705 WEEY S 255 Y S A 2 H0 = 4= Hil 1
AR AL Ea 100706 2y A 15 P 24 P 2 U == 4= Hifil 2
FEAREAL Ea 100706 2 P = 4= Hifil 22
AR 2525t 100706 2y 2y = 4= Hil 1
FARZEANL ok U 100706 pipiies PREE N G WA BRAIT 5T 5 &= H ] 1
AR AL 258 100706 2 B IEE R E 4 H il 3
Lol 2B 2B 105500 2% 2 E 4= Hifil 6
Ll 27 25 B 105500 Zj% 205 O = 4= H il 5
kAL 2524t 105500 2y HZ 5RO E 4= Hil 3
kAL 2525 105500 242 A S S 2 H0 = 4= Hl 2
Tl 2525 105500 Zj AT F A E 4= Hil 6
A=) Pk 105500 25 I PR 24 3 2 Ut = 4= Hiil 5
SN2 A 25 105500 Zj% P = 2 H il 28
Lol kel 105500 ks AR E 4 Hiil 3
kAL 2525 105500 2y FHEE N S Wb 25 BEBIE 7T = 4= Hiil 3
Ll 2L 258 105500 ik B IEE R E 4 H il 6
kAL 2525 B 105500 Zy2 FIRA WM H0 = 4= Hil 1
FAREAL ER 100105 R R O = 4= Hil 7
AR ER 100105 L R EYRIE S = 4= Hil 3
AR TR 2B 100105 R LR IR R HA = 4= Hl 1
AR AL LR 100105 B EEFEY = 4 H il 2
FARFEAL IR PR F B 0710J1 S ENE EJRES) 56k 4= H il 3
FEAREAL 5 —IRRF B 100171 Y ERCEINES) U6 F} 4= Hil 2
FAREEAL 5 Im IR 2= b 100201 MR Lo I R} 4 Hifil 17
AR 5 —Im IR =B 100201 M B B AR 4= Hl 10
EARZENL C i1 Sl U 100201 WAL N oI5 AR AL 4 H ] 22
FARZAL IR PR F B 100201 P RL HIL AR 4= H il 8
R EAL 5w PR B 100201 MR K S Z L 2 H il 3

%2 T, 38




HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(ZZHLY: ZMBAEE 1%11#?«%1%2021%iﬂi*ﬁ%}%ﬂdﬁ— B0 BRI AGAT, PAEE A AL, MH10H 208 A4 KA 2022-F 5%
FRIEMIER A AR GEMBAE TR, FLIF V2025 B RAB LI T A RK2022F B ARG NFOBATR A £, #FXE
é&&ﬁmii‘mlﬁl)&é ﬁé:po )

e TS R SR ST Focr e g 5pat |V IR
FAREEAL IR KRB 100201 MR I A B 4 Hifil 4
AR AL F—ImAR B 100201 MR IR N B 4= H il 12
AR AL IR KRB 100201 MR gy I AL 4= H il 1
AR AL B —Im RSB 100202 JLRHE JLE 4= H il 2
AR 5 —Im IR =B 100203 BERY ZERER 4= Hil 5
AR AL IR R b 100204 PRI 2 e E 4 Hifil 4
EAREEAL 5 —Im IR =B 100205 R SR A DA 2 F f 5 22 R} 4= Hil 10
AR IR 2= B 100206 SR Je AR R AL 4= H il 20
FEAREAL B —IlmIR =B 100207 AR R SRS U AL 4= Hil 4
AR 5 —Im IR =B 100207 AR R SRS AR 4= Hil 4
AR 5 —Im IR =B 100207 AR R SR O I R 75 R 4= Hl 3
AREEAL 5 —Im IR 2= B 100207 AR R S KIE i AL 4= Hil 2
R IR 2= Bt 100207 AR R SRR MANIEITE 4= H il 10
FEAREAL B —IlmIR =B 100208 e ARG 56 12 BT o 06 AL 4= Hil 18
AR IR =B 100210 HhELF# S NNy 4= Hil 2
AR 5 —Im IR =B 100210 S HDR AR AP AL 4= Hil 2
AREEAL 5 —Im IR 2= B 100210 S ELE PSR} 4= Hil 7
AR IR 2= B 100210 HhEL# a E AL S AL 4= H il 2
FAREAL B —IlmIR =B 100210 HELE# W PRAMEE 4= Hil 4
AR 5 —Im IR =B 100210 HhEL B AL 4= Hil 1
AR 5 —Im IR =B 100210 HhELE# O RSN EL 4= Hl 4
AREEAL 5 —Im IR 2= B 100210 HhELE# M AR HR AR ANEL 4= Hil 7
AR IR 2= B 100210 HhEL# JTRE AL 4= H il 1
FEAREAL B —IlmIR =B 100210 HhELE 4 EE 4= Hil 2
AR B —Ilm IR =B 100210 AN ‘BE 4= Hil 5
AR 5 —Im IR =B 100210 HhELE# AL 58 4= Hl 1
EAREEAL IR =B 100210 HhELE# JERE AL 4= Hil 1
AR IR 2= Bt 100211 R R 4= H il 1
FEAREAL 5 —ImIR =B 100211 H= R =k} 4= Hil 1

/3|, L8




HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(Z &L Z B AL RIARIE2021FBARKENE, A RMERIIR, EFELF, 107208 A& KA 20225 5%
RABIIE R AT LR AF B AT R RAFA2022F XA K RTT T ERAR2022FBARBIFE AR OBAETRIANE, FHXE

BARAT AR M ob )G Sili )

e TS R SR ST Focr e g 5pat |V IR
FAREEAL IR KRB 100212 IR} IR AL 4 Hifil 1
AREEAL IR =B 100213 T 5 A AL - 5 A AL 4= H il 1
AR IR 2= B 100214 Jih g 2% PRI AT == bR R 5 0 A T 90D 4= Hifil 4
FEAREAL B —IlmIR =B 100214 Jih g 2 FUR SR 4= Hifil 9
FAREEAL IR KRB 100214 Jirh g 2 I s L 4 Hifil 25
AR 5 —Im IR =B 100214 Ji R 2 BRI R 4= Hifil 1
EAREEAL 5 —Im IR =B 100214 Jih g 27 IR ST — = GBI LD 4= H il 1
AR AL IR KRB 100214 Ji g 2 J R AT 78 BT % CCEVDIR TR 4= H il 4
FEAREAL B —IlmIR =B 100214 JiJR JiEE P R 4= H il 20
AR 5 —Im IR =B 100215 RS ST 2 RS E 4= Hifil 1
AR 5 —Im IR =B 100216 ZAE BAIE S5 RAMEL 4= Hifil 1
AR F—ImAR B 100217 SRR 2 R} 4 H il 4
R IR 2= Bt 100218 SZEY¥ S22k 4= H il 3
FEAREAL B —IlmIR =B 100271 TGS 2 R EL 4= H il 1
AR IR =B 100272 HER & HER S E 4= Hifil 5
AR 5 —Im IR =B 100273 ARHE RHE =R 4= Hifil 3
AREEAL 5 —Im IR 2= B 100401 WATI 5 DA G2 56 ARk 4= Hil 3
AR IR 2= B 100401 WATIR 5 DA G2 Il PRIRAT o3 5 108 E 5 27 B0 = 4= Hil 3
FAREAL B —IlmIR =B 100602 H PR 4 S IR HEEE 4= Hifil 1
AR 5 —Im IR =B 100704 2o 2530 4= Hifil 1
iA=L A 5 —Im IR =B 105500 242 2550 4= Hifil 7
AR AL B IR R B 071007 g SEIS A 5T 0 4= H il 3
AR 5w IR 2= B 071007 L N LS R T SEE = 4= Hil 7
2R 2y IR =B 071007 AL Il R AL B} 4= Hifil 3
AR IR 2= B 071074 SEI0 R SERS A ST 0 4= H il 2
AR 5w IR =R 100102 Ty SEIRHE T O 4= H il 1
EAREEAL 5w IR AR 100104 Joa B 2 S H AR H 2 S ELARL 4= H il 3
AR 5w IR AR 100173 =Rt 2 A R A E 4= Hifil 2
FEAREAL 5 mIR =R 100173 S = Y hr == R 4= H il 1

%4 T, 38




HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(ZZHH: ZMBLEE 1+%’HE’<%1%2021%iﬂi*ﬁ%}%ﬂdﬁ— B e BRIELIR, EFELE, FH10A208 A% &K #2022 5%
FRAEACIE £ 1 DU R G5 PAAB AT X S AXVA2022F B A K0T T A KAR2022F B ARG AHOBE TR A K, HXE
é&&ﬁmii‘mlﬁl)&é ﬁé:po )

e TS R SR ST Focr e g 5pat |V IR
SFEREAL ) 100173 &3F$+ 2 J@tﬁﬂj AR 4= Hil 1
AREEAL ) 100171 L TR YIHIE YT BT TR AR 7T 0 4= Hil 3
N2 5w IR 22 B 100201 MR IR N L 4= H il 4
iy =2 B Im AR B 100201 MR N o AL 4 Hifil 3
SR 5w IR 2= B 100201 N B B E N R 4= Hil 4
AR AL IR R B 100201 MR HEAE 4 Hifil 8
N2 IR R B 100201 R O I N R 4= H il 2
N2 g 7)==l 100201 PR I N B 4= H il 1
iy =22 B Im RSB 100202 JLE} JLAEL 4 H il 8
FAREEAL IR R B 100202 JLBH JLAMEE 4 Hifil 5
SFEAREAL ) 100203 Y ZEERSE 4= Hl 3
AREEAL ) 100204 FHE I 2 e EL 4= Hil 5
R 5w IR =B 100207 AR R SRR e R} 4= Hiil 3
SR AL IR =R 100207 AR R SRS U AL 4= Hil 15
AR 5w IR =B 100208 I A4S 96 12 T 27 06 AL 4= Hil 3
SR 5w IR =B 100208 i R G 5612 Ty 2 IR AL = 2= H il 1
N2 IR R B 100210 AN HE 4= H il 7
AR 5w IR 2= B 100210 HhEL# WR AR 4= Hiil 5
iy =2 B Im AR B 100210 AR AN 4 Hifil 8
FAREEAL IR R B 100210 AN AR 4 Hifil 10
SFEAREAL ) 100210 HhELE# 48 4= Hl 1
N2 B IR R B 100211 Sl 2 = E L 4= H il 26
¥ = VA g 7)==l 100212 AR AL R AL 4= H il 2
iy =2 B Im RSB 100213 H G MR B} 2 H 5 e R} 4 Hifil 3
SR IR 2= B 100214 Jih g 2% JiEE P R 4= Hil g
SFEAREAL ) 100214 Jih g 27 JibyRg Sh AL 4= Hl
AR AL IR R B 100215 RS 5T EE 4= H il 3
N2 IR R B 100217 SRR 2 JRIERL 4= H il 9
iy =22 IR AR B 100218 SiZEE 2928 4 H il 2

/5, L8|




HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(Z 23 ZBE LT XRE2021FRBAERBEMNE, O5KRELIR, EEELE, H10H208 £ 4 K 20225F 5%
R AT AR REMBAETR] ., RLWKFE L2022 FE R XTI T ARKR2022FBAKATRE AR ETR A, HRiE
KT R AN )G il %, )

e TS R SR ST Focr e g 5pat |V IR
SFEREAL ) 100401 WATIR 5 DA G Il PRIAT IS S U = 4= Hil 8
N2 IR IR 22 B 100706 2y A S 4= H il 2
SN2 A 5w IR 22 B 105500 ik ki 4= H il 9
SR 5 DU R 2= B 100201 B 5 PR R L 4= Hil 2
SR 5 DY I PR 2 B 100201 P RL O I R 4= Hil 3
AR AL 25 DU PR 2 B 100204 PRI 2 e E 4 Hifil 2
FARFAL 5 DU I R 24 Bt 100207 AR R S KIE i AL 4= Hil 1
AR AL 2 DI PR 2= B 100210 S Bl ‘HAhEL 4= H il 3
SR 5 DY I PR B 100210 HhELE W PRAMEE 4= Hil 5
SR 5 VYIS PR 2 B 100210 HhEL 12 AR 4= Hil 2
SFEAREAL 5 DU I R 2= Bt 100210 HhELE# gk J i g RE AR 4= Hl 5
FARFAL 5 DU I R 24 Bt 100210 HhELE FE DR B JH T ik 2B A1 4= Hil 2
FARFAL 5 DY I PR 2 B 100212 IR B2 IRE 4= Hiil 5
Bl oy 25 DU PR 2 B 100213 H LR B} 2 H 5 e R} 4 Hifil 1
AR 5 VYIS PR 2 i 100214 Jih g 27 B sl 4= Hil 2
SR 5 DU I R 2= Bt 100214 Jih g 27 B R BGHR T R 4= Hil 1
FARFAL 5 DU I R 24 Bt 100214 Jih g 27 5 MR BUHR T R 4= Hil 1
AR AL 25 DI PR 2= B 100217 SRR 2 JRIERL 4= H il 1
SR 5 DY I PR 2 B 100218 SR 22E 4= Hil 1
iA=L A 5 DY I PR 2 B 105500 242 25253 4= Hil 4
L\ 22y 5 DYl R 2 e 105500 ks AR 0 4 H il 1
AREEAL 18 = 24 Bt 100217 SRR 2 1 SRR I = Ot = 4= H il 1
FARFEAL I B 2 B 100301 I s JH il [ 2 C MR H = 4= Hil 3
SR I 2 24 B 100301 1 s F il 2 2 s Y H = 4= Hil 1
SR I B 2 B 100301 I Jis o il [ 2 1 i 2H 2095 BE 2 20 2 4= Hil 3
SFEAREAL I 2 2 B 100302 18 I PR I 2 JLEE D B 22 H0 = 4= Hl 4
FARFAL I B 2 B 100302 s e R = 2 [ i 0 ] 4B 27 B0 = 4= Hil 4
PR 1B R 5 B 100302 s e R = 2 I i 6 s “F Ui = 4= Hil 2
SR I 2 24 B 100302 1 R 12 2 M B = = 4= Hil 5

%6 T, L8




HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(Z 23 ZBE LT XRE2021FRBAERBEMNE, O5KRELIR, EEELE, H10H208 £ 4 K 20225F 5%
R AT AR REMBAETR] ., RLWKFE L2022 FE R XTI T ARKR2022FBAKATRE AR ETR A, HRiE
KT R AN )G il %, )

e TS R SR ST Focr e g 5pat |V IR
AR I BE 2 e 100302 I J i A P 2 I Ji I e 27 B = 4 H il 3
AR I BE 2 e 100302 I J i A P 2 L et 4 4 H il 2
AR i BE 2 e 100302 I J i A P 2 R o T 4 [ il 6
AR I 5 2 e 100302 12 i A 2 25 T 2 0T = & H il 2
FEAREAT P2 e 101100 Ak e P BRI 4 [ il 5
FAREAT PR 2 e 101100 i e Bt JE — Be g AR 4 H il 2
FARENL EIAbs U 101100 P Bt T At e 37 S 4 H il 2
SN2 2 fie e 105400 ¥ Eie e 2 H il 52
AR i B 5 120402 e e MR o [ A T A b A T 4 H il 1
EAREAT i B 2 120502 T e 2 T T 2 o = 4 [ il 4
FAREAT B REBE S B 071011 L B LE YRR = 4 H il 1
AR B REBE S B 083100 S TRE R TR O = 4 H il 6
Lolk 2 B REEE 2 B 085409 B TRE FE B TR O = 4 [ il 8
Eoalk 2 B REBE S B 085409 EEES TR R TR O = Ik 4 H 1
Eoalk 2 B RELE S B 085409 BB TRE LE YR T = 4 [ il 1
Lolk 2 B REBE S B 085409 B AR 12 3 = 2 SE R T == 4 H il 1
Eoalk 2 B REBE 2 B 085410 NTHHE R TR O = 4 H il 6
AR B REEE S B 100171 N S MY TR A = 4 [ il 4
AR ] AR 2 R B 100210 s MR 4 H il 1
AR ] B AR 2 R B 100211 ST EEt 4 [ il 1
FAREAT ] B AR 2 e B 100214 ihies JotRE A 4 H il 2
| A A Hh T R R 2 R 5 e 105500 ks okt 4 H il 2
AR o BE AR A IR BE B 100210 bR e 4 [ 1) 1
AR o BE AR A IR R e 100214 iR AL 4 H il 1
FEAREAT i B0 TE Bt 071009 A P TR 4] 4 1 4
FAREAT i BB TE Bt 100101 N AR 5 AL U R 27 T 5 KPTIREIAL 4 H ) 2
AR i BEFL A0 TE Bt 100101 N AR 5 A U R 2 2 R PEPTIR AL 4 H 1 3
AR i HEFL A0 TE Bt 100101 A 5 2 S i 2 2 LPTERIA 2 [ il 1
AR i BEL AW TE Bt 100404 JUb BA: 54 friie 2 [ £ 22 P TR R4 A [ ] 5

/7O, L8




HHEIBRER Y 20224E 051 - WF s A S04 A TR CIERLERSEAE)

(Z 23 ZBE LT XRE2021FRBAERBEMNE, O5KRELIR, EEELE, H10H208 £ 4 K 20225F 5%
R AT AR REMBAETR] ., RLWKFE L2022 FE R XTI T ARKR2022FBAKATRE AR ETR A, HRiE
KT R AN )G il %, )

e TS R SR ST Focr e g 5pat |V IR
SN2 A {e BERL 20 5B 105300 AT [ = P T UR A2H 2 H il 2
Lol | P E B ALK 2 T B B A B 105300 AT SR 5 4 L P Y5005 T 42 1) B 4 H il
Lol | I B ALK 2 T B 2B A B 105300 AT BEARNLTAERSR S 4= H il
Tl | R E B ALK 2 T s T b 105300 ANLPE ERSam AR 4 H il

Lol shr | A B ALK 2 T B 2 A B 105300 AT 18 1 S A% G Py 05 T 7 42 1) B 4 H il 10
Tl | P E B ALK 2 T s T b 105300 AT N ESS Az Ed=hil
Tl | P E B ALK 2 T B B A B 105300 AL TA ROV 7 ¥ -5 BRIl T3 26 F 87 2 il e 4 H il
Lol | P B ALK 2 T s 2B A B 105300 AT R DA 4= H il
RN | P EERR SR LE BB 100202 JLER} JLEL 4 H il 3
AR AL [ B = 5 B8 W S b 100172 E¥HE S [ B 2= 2 205 W F B 4 H il 6
Tl | A E B ARG X R B 105500 kS G Ed=hil 1
R AL A i Bl B 071002 ILvES SEB S 4 H il 1
PR i e U 071003 AR T 5 PTG 2 H il 1
FARZAL A AR b 071003 AT A B O 4 H il 6
AR AL A Bl B 071006 MEAEY P22 L 2 U = 4 H il 8
FARFAL A AR b 071007 L WAL O = 4= Hiil 4
R AL A Bl B 071009 Y1 2E A BB MY =B = 4 H il 14
R AL ARl B 071009 S o 2E o o> T AN AP = B = 4 H il 15
SR AL A Bl B 071009 S 2E 4 P 243 R 4L 2 O =2 4 H il 2
AR AL A Bl B 071010 VS 0y FAEY VS oy TAEY S BT = 4 H il 15




